

## OFFICE OF THE BIDS AND AWARDS COMMITTEE NOTICE OF AWARD

**September 21, 2022** 

MS. JENNY ANN A. GARCIA
Proprietor
AVES FARM SUPPLY AND GENERAL MERCHANDISE
Roxas Street, District II,
Cauayan City, Isabela

Dear Ms. Garcia,

We are happy to notify you that the Supply and Delivery of Various Agricultural Supplies for the Province of Isabela in the amount of **PhP7,442,499.94** is hereby awarded to you as the Bidder with the Lowest Calculated Responsive Bid.

ITEM NO.	QTY	UNIT	DESCRIPTION	UNIT PRICE (PHP)	TOTAL BID PRICE (PHP)
1	80	piece	21-0-0	₱1,980.00	₱158,400.00
2	5	piece	216 Seeds	<b>₱1,980.00</b>	₱9,900.00
3	50	piece	Carbonized Rice Hull	₱104.28	₱5,214.00
4	35	piece	2-4-D (Gallons)	₱1,320.00	₱46,200.00
5	147	piece	46-0-0	₱3,801.60	₱558,835.20
6	10	piece	Ammonium Sulfate fertilizer	₱2,296.80	₱22,968.00
7	27	piece	Agri lime	₱871.20	₱23,522.40
8	30	piece	Amoxicillin (hog)	₱43.56	<b>₱</b> 1,306.80
9	30	piece	Apramycin Sulfate (hog)	₱39.60	₱1,188.00
10	30	piece	BABY CONO	₱396.00	₱11,880.00
11	10	piece	Baklad	₱209.09	₱2,090.90
12	60	piece	Charcoal	₱462.00	₱27,720.00
13	119	piece	CHICKEN FEEDS Starter	₱2,613.60	₱311,018.40
14	30	piece	Corbimix	₱236.97	₱7,109.10
15	5	piece	Dalarayan	₱208.56	₱1,042.80
16	250	piece	Darak (Rice Bran)	₱15.84	₱3,960.00
17	15	piece	Darak (Rice Bran) @50kgs/sack	₱792.00	₱11,880.00
18	25	piece	DLP (duck layer pellet)	₱2,336.40	₱58,410.00
19	10	piece	Dmax	₱110.88	₱1,108.80
20	50	piece	Feed Sawer	₱2,368.08	₱118,404.00
21	50	piece	Feeds	₱950.40	₱47,520.00
22	2	piece	Feeds Scoop	₱264.00	₱528.00

ITEM NO.	QTY	UNIT	DESCRIPTION	UNIT PRICE (PHP)	TOTAL BID PRICE (PHP)
23	30	piece	Fertilizer	₱3,234.00	₱97,020.00
24	10	piece	Fertilizer	<b>₱</b> 2,823.48	₱28,234.80
25	20	piece	Green Bee Fertilizer	<b>₽</b> 409.20	₱8,184.00
26	4	piece	Fine Plastic Net	<b>₱</b> 2,439.36	₱9,757.44
27	10	piece	Fish Feeds	₱1,900.80	<b>₱</b> 19,008.00
28	100	piece	Fish Feeds Booster	₱1,029.60	₱102,960.00
29	70	piece	Fish Feeds Grower	<b>₱</b> 1,584.00	₱110,880.00
30	115	piece	Fish Feeds Pre-Starter	₱1,758.24	₱202 <b>,</b> 197.60
31	80	piece	Fish Feeds Pre-Starter Zero	<b>₱</b> 1,607.76	₱128,620.80
32	70	piece	Fish Feeds Starter	<b>₱</b> 2,138.40	₱149,688.00
33	50	piece	Fish Net	₱51.48	<del>₱</del> 2,574.00
34	5	piece	Fish net (small size)	₱12,196.80	₱60,984.00
35	5	piece	Fish Net, 5 meters	₱51.48	₱257.40
36	2	piece	FISHNET (TABUKOL)	<b>₱</b> 51.48	₱102.96
37	5	piece	Flowering Fertilizer	₱165.00	₱825.00
38	10	piece	Food Grande Minerals	₱11,151.36	₱111,513.60
39	25	<del>  `</del>	Fungicide (Gallons)	₱3,484.80	₱87,120.00
40	20	piece	Fungicide Armure	₱3,928.32	₱78,566.40
41	5	piece	Fungicide (500ml)	₱976.80	₱4,884.00
42	59	piece	Glyphosate (Gallons)	<b>₱</b> 1,980.00	₱116,820.00
43	50	piece	Grana	<b>₱</b> 138.60	₱6,930.00
44	30	piece		₱6,652.80	₱199,584.00
45	1	<del> </del>	Heavy Duty Stroller	₱4,620.00	₱4,620.00
46	35	<del></del>	Herbicide	₱772.20	₱27,027.00
47	76		Herbicide (100ml)	₱858.00	₱65,208.00
48	10	<del>-</del>	Herbicide (500ml)	₱990.00	₱9,900.00
49	322	<del></del>	Herbicide (Gallons)	₱1,980.00	₱637,560.00
50	59	<del></del>	Hog Grower	₱2,779.92	₱164,015.28
51	29	<del>                                     </del>	Hog Pre-Starter	₱2,217.60	₱64,310.40
	23	piece		₱1,900.80	₱43,718.40
52	6		Incubation rack steal (5mxlmx2m)	₱8,363.52	₱50,181.12
53				₱68,112.00	₱136,224.00
54	2	piece	Insecticide 275 EC 500ml	₱1,174.80	₱85,760.40
55	73	<del>                                     </del>		₱792.00	₱57,816.00
56 57	73	piece		₱2,640.00	₱52,800.00
57	20	piece		₱1,742.40	₱10,454.40
58	6	piece		₱858.00	₱30,030.00
59	35	piece		₱39.60	₱1,188.00
60	30	piece		₱209.09	₱104,545.00
61	500	piece	<u> </u>	₱871.20	₱696,960.00
62	800	piece		₱73.92	₱1,848.00
63	25	<b></b>	LITING	₱1,140.48	₱1,848.80 ₱11,404.80
64	10		MACHETTE	₱1,140.48 ₱269.28	₱26,928.00
65	100	piece	Milk fish	PZ03.28	r 20,320.00

.

- '

ITEM NO.	QTY	UNIT	DESCRIPTION	UNIT PRICE (PHP)	TOTAL BID PRICE (PHP
66	300	piece	Molases	₱68.64	₱20,592.00
67	25	piece	MOLOCIDE	₱4,171.20	₱104,280.00
68	250		Nest box	₱213.84	₱53,460.00
69	100	piece	net	₱52.80	₱5,280.00
70	1	piece	Nets	₱2,613.60	₱2,613.60
71	10	piece	Organic Fertilizer	₱514.80	₱5,148.00
72	1,500	piece	Organic Herbs	₱6.60	₱9,900.00
73	1,500	piece		₱6.60	₱9,900.00
74	78	<u> </u>	PESTICIDE	₱2,745.60	₱214,156.80
75	2	piece		₱7,920.00	₱15,840.00
76	10	ļ	PLASTIC MULCH	₱3,801.60	₱38,016.00
77	2		PLASTIC SCREEN CHICKEN NET	₱4,276.80	₱8,553.60
78	2	<u> </u>	PLASTIC TANK	₱1,980.00	₱3,960.00
79	20	<del></del>	POST HERB	₱1,980.00	₱39,600.00
80	5	<u> </u>	POWER GL	₱1,980.00	₱9,900.00
81	102	<u> </u>	PP bag 6 "xl2" Folded	₱132.00	₱13,464.00
82	52	<del> </del>	PP bag 7 "xl4" Folded	₱158.40	₱8,236.80
83	50		RG Factor	₱48.79	₱2,439.50
84	280	<del> </del>	Rice Bran	₱15.84	₱4,435.20
85	250	piece		₱15.84	₱3,960.00
86	2,000	<u> </u>	Seedling Bag 8"xl0"	₱11.88	₱23,760.00
87	4	piece		₱16.90	₱67.60
88	4	piece		₱16.90	₱67.60
89	3	piece		₱8,976.00	₱26,928.00
		<del>                                     </del>		₱835.56	₱2,506.68
90	3	piece		₱4,488.00	₱4,488.00
91	1	piece		₱4,488.00	₱22,440.00
92	5	piece	<u> </u>	₱1,980.00	₱13,860.00
93	7	piece		₱1,980.00	₱29,700.00
94	15	piece		₱3,722.40	₱476,467.20
95	128	piece		₱3,722.40	₱3,722.40
96	1 1	<del> </del>	urea - molases block	₱3,722.40	₱629,085.60
97	169	piece			₱18,612.00
98	5	piece		₱3,722.40	
99	3	piece		₱4,276.80	₱12,830.40
100	50	piece		₱633.60	₱31,680.00
101	2	piece		₱6,969.60	₱13,939.20
102	1	piece		₱14,256.00	₱14,256.00
103	1	piece		₱7,128.00	₱7,128.00
104	23	piece		₱27.72	₱637.56
105	30	piece		₱46.20	₱1,386.00
106	800	piece		₱46.20	₱36,960.00
107	50	piece		₱4,527.60	₱226,380.00
108	500	piece	Wheat (soft)	₱58.29	₱29,145.00

Y.

:

ITEM NO.	QTY	UNIT	DESCRIPTION	UNIT PRICE (PHP)	TOTAL BID PRICE (PHP)
109	50	piece	Wood	₱66.00	₱3,300.00
105		1	x-x-x-nothing follows-x-x-x-x		
	tal Bid Pr				₱7,442,499.94

You are therefore required within ten (10) days from the receipt hereof to formally enter into contract with us, and to submit the Performance Security in the form and the amount stipulated in the instruction to Bidders. Failure to comply therewith shall constitute a sufficient ground for cancellation of this award and forfeiture of your Bid Security.

RODOLFO T. ALBANO III

Provincial Governor

Received by:

DATE.

09-21-22